a>b>1%1 45 a, bl tiste] o5 5 4 BAE vr=A Uerd

A2

1 a
7>7
®a b ®1—a>
a
-1<b-1 —_— < —
@ a < ®1—|—a<1+b

® a+3<b+3

b
1-b



2.

x+2y=3 -1<y<2d W, x A HYE FotHa<x<b 7}t
ol ul, a—b 9] 27



3. —x+523,20-3>7°] tfole] AYRFAY HE Tajelet.

D L
=%



4. A<B<C & EAES E o e A7

S % .

Ll
A<B A<B A<C
® ®
A<C B<C B<C

@)
@ B<A 5
B<C

A<B
C<B



22 d7t 242}
ot} Z4 9] A
ol 42 FAAe
o, =2 2L ol
ofet.

SEE

1}

o

o}
2]

1
|
my ol

O N rlo ax

=
L

1==N
[

ro, ofk

=
-]

A]

{1'22 —




3x—1>x+3

o a7t ghem, a o grol B 5

o]
AR

LSS
R



7. FSA|x-2<2x-1&EWH?

D x>2 @ x>-1 @ 1<x<2
@ x>1 ® x<?2



A7 -3x > 25 =19

Hlo

N o
NOA
= =
A
Moo
| Yo Tl o [}
Y v
= =
Q @
™ <t Ne)
A A A
= = =
] | N R
HoOoB H
O | LD | <0 [ ©
Y Y v
= = =
©@ © ©



2 _
9. Ayme 2x°+3x—-2<0

>~

= ZH?
2x24+x-3<0
1 3
@—2<x£§ @ -2<x<1 ®—§<x£1
3 1
@—7<xsi ® 1<x<2



©9

o o, = al g

7t e A4

xOf tiet B4 x+2 <ax+3 9] 5

10.

@ 1 ® 2

® 0



3x-4<2x+9

D 10<x<12

@ 10<x<13

@ 1l<x<14

® 9<x<15

@ 1l<x<13



] 2x+ 7> 3x

o = o =z =] 1

\—%TO/\"] ED_,_O]_
xX=a

H o]l

\j'l':|’—1()

v
m

3571 37090 o, 4 o] 3¢l



xta<x+2<4(x-1) 9

@ -1 A1

Mtb<x<5¥ ™, a+b

@ 3 ® 5



14. OJARSA 2 +2x+a <09 7t -4 <x < 2¥9 W, a9 FE
TFatodet (T, a & A

D L
-



15.

OFo] A2 gof Tete] —x2+7x—10 > 02 RE 37} 22 —4ax+3a2 <0

o
2 W ), a9 gre] Wele?

<a<?2 ©)

IA
IA

W Ut
IA
Q
IA
[N}

Wl

) 2 @)
@ ®

a
a

wl ot =
IA

5 <a<b

IA



5l x o] WOl §7t a < x < gL T



17.



@ -3<x<2

® -2<x<3

® -2<x<1



19. F54 %% —2ax+a+2 < 09 o7} EA31=] &7] {15 A

DO -2<ax<1
® -1<a<?2

®a<-1E=a>2

@ -1<a<?



A 4x® + 8kx + 8k -3 = 0°] A2 M w, A= k9] g

Ay
912

o T

20.

™M

i
Hoow

— N =

e — AN

Q@ @

M I
Al

I i
Hoov
— N =

vi Vv
e — A

<

bl
=

G)



Ay = +ax t b B S DG ASE ZE 0T 1
Lo = 22 AFTe EX HA 92 g, & I ol
X +ax+b <0 & Tk A4 x o WPE Fstolet
A y
Y y

ql




22.

0<x<18 BE xof tfsto] A
A4=0] A q o] HOIE FoHH?

Da=-1
@ a<-1

@ a>-1
® a<-1



A A] T 9 () 7F ALARE S Qe A ¢



24.

x ol 7 o] 2AHY 7

A5 o

Fotofet.

&
45

A x? —ax+9=00°] x < 194 F 7o) A&

a® Y915 #5t¥ a < kolt}h. o] W, k9 S

ag:k:



25. xoll Thak olAAA 2 — x4 k = 09] G 2abo] ol XA 2 -

o

3x+2 =09 2 Aolo] gl uf, A% ko] ghe] W=
D 1<k<?2 @ -2<k<0
® -2<k<0 @ k<-2FE=k>0

® —2<k<-1



